HT-1

T T

1. ‘I59a vIeg &1 g wiu-fo=se 8 :

() 3T+S9d (b) 3Id+dA (c) 34+ Ss9d (d) 3Id+9d
2. Trafafed & @ form wreg § g T H A9 R 7

(a) ¥ (b) SREH (c) TrTHw (d) fdfe
3. o fre 3 & Ree st Hife %1 e e E 7

(a) @ (b) @ETH (c) Tomam d) =@
4. ‘W fraVIHRITE R ?

(a) T (b) 3t (c) i (d) gemreft
5.  ‘HNST ol dcdH &9 8 ;

(a) dieh (b) HIgH (c) e (d) e
6. Taferigd sreci o @ Hent 31se o1 w84 HiIfvTT

(a) T (b) Y@ (c) Hexa (d) g
7. T=fRed @ @ Jmee e w1 =E il

(a) W& (b) eI (c) Frmr (d) TERA
8. Tm=feriga o & o vreg o1 == ShifsTu

(a) A (b) IR (c) hugEl (d) SorEH

9. U e feu AT @ B | ANTEG eql o HYE i TgEH L IGhT T3 HITT :
TSI, YSHAR, Tohl, TS |
(a) TISHYTIO, Uehdl, TTeTEX (b) YSTAR, TSI, THUTIOT
(c) TISIEL, ThITT, YSTAR, Tehdl (d) U, YSHAR, TSI

10. -9 Mg~ TG B ?

(a) 3If-3ft (b)) fau-fm (c) Ima-w|Td (d) TE-TRR
11. fore ueh w1eg o 319 i’ O I g HerITawer i Tehe HdT & ?

(a) (b) ™= () T (d) 3ol
12. = feu T e vied] # © fepE ST 1 Wie wHIEd A8 8 7

(a) T (b) &I (c) SeeTE (d) sfter
13. ‘favepa’ 1 ool g 2 -

(a) g (b) 3Tef (c) 3efd (d) 3tgd

Series-A 2 PAH



14. ‘S T HI A ET 2

(@) & (b) &d (c) s (d =
15. Tr=ferfaa # @ s, fohg fammell sreg-3m o1 w=@ Hife

(a) TSIT-3=T (b) WH-IH (c) JAYI-3TT (d) ufa-uch
16. TforRaa fomliareis gm & @ SH-a1 Tora g B ?

(a) 3TN ~ T (b) ey - e

(c) e - faehivf (d) S - 9T
17. HI-H1 g §1 U I= H &l YgHd glar g ?

(a) THER (b)y T (c) dER d) =9
18. fFfafgad A Ha-arvse ‘39’ STwi s amE T s R ?

(a) IAURTA (b) 3UHIfd (c) 3TUs (d) 3TUHR

19. Trferiaa ame o & T STe 1 = SHIfT :
(a) H feocht g, Fifh g wlian S 2 |
(b) T3 wlien ¢ft 2, safere feeedt ST |
(c) T3 e i g 3 H feecfi s |
(d) Hulien g & fou feeefi s € |

20. Tr=ferfaa e 9 @ faftamees g %1 === Hif
(a) TRITIE ™ | (b) 379 qH Hd @l |
(c) 319 = T | (d) TBHBITMEIG ?

21. Ffafgadas-mfag e g 2
(a) W FHD TR, 8T @l T TH |
(b) TATH AT 3R TR HeRL Tl TR |
(c) T, o SR T E |
(d) | 91 3 o foTu J&T AT Y 7
22. Tr=ferRaa & @ frepife w1 == Hif -
(a) HAIH AR (b) ST W
(c) g ™mE g (d) € @1 % o uTd

PAH 3 ~ Series-A




23, TreAforiga o & 9 -a1 geau ‘g % 319 # T sy gar g ?

(a) RIS I Joo], (b) T B Heh R
(c) 3T <1 G (d) el @
24. Topd vIeg T TN SEIEA H AT R ?
(a) e (b) @A (c) Teht (d) e

25. ‘Tm - cgaar g |’
ST AT H - R 7
(a) @ (b) TeHM (c) Teriwor (d) Toram-femivo
26. foem A ARA-TIHTATR 7
(a) MEM-I  (b) TRA-FeT (c) AME-HIG (d) TAEI-TRY
27. ‘g3 2 Fop 8 aTueh T BT S AL TR I
T T 1 gfd i for@ Suger wreg @ Shif -

(a) g (b) H ¢ g8 O
28. T8 T9 gelTEe ekl gEll ol foemar 2 I’
T o i gfd et fore 3o seg @ i :
(a) @fera (b) 3 (c) ™A (d) =fe
29. ‘I Hg H S eI b1 37U 7 -
(a) e ISR Rgerrr (b) 3 Hg | Sfiurt g
(c) U HU BT (d) 3TETFRAT T Tk T 55d A

30.  ‘ogr 3R o AN A Wi B |
T worm <61 gfd e forg SR wrsg & It -
(a) @ (b) wHAT () m (d) T

31. FfeRad o @ HH-41 999 WEa=A 8 7
(a) TSEEEIE |
(b) URBTAIATER |
(c) THAINAAEE |
(d) 1< q3E HRT1 T8I A1 |

32, S TR AT @ TR o foTU I Ueh I @
(a) fam (b) I (c) IR (d) 3=

Series-A 4 PAH



33. ALY SIS 1 T HINT :

(@ ® (b) @ (c) @ (d ¥
34. Frafefaa o wivds Som sR-T g ?

(a T (b) (o) = (d =
35. Tafafad o 9 yve @@ 1 == $ifSe

(@) 3% (b) T © T (d) 3m
36. Tm=fafga # @ Tifaes =@ 1 == Hifv

() = (b) () @ (d %
37. BH-T UL I HI R AAG R ?

(a) Ssdaferd (b) Tssaterd (c) Tsardfetd (d) ISEfaa
38. HH-T AL A H WA YR ?

(a) ohfet (b) et (c) ehfaReE (d) HarEt
39. frafofad vl A g wsg 2

(a) TR (b) IR (c) 3rcarfea (d) T
40. TN 1 U Giy-foese B

(a) I+ 3T (b) IIM + AT (c) I+ (d) I+
41. ﬁ(“)ﬁ?ﬁ()%ﬂﬁ'ﬁW’l—vﬁ%

(a) HAWR (b) foea = (c) 3TANTETE (d) IUWER
42. & v foim o foped 9e 8 2

(a) (b) =R (c) dH d @
43. ‘INE wec H forg IuTE HT AN B 7

(@ 3 (b) 3 (c) 3 (d 34
44. Tt § 4 w-91 wee ST 8 7

(a) Gad (b) TR (c) ueft @) U
45. forg g o ge ve fommor 3 g ue fomrsr g 2 7

(a) STRIYE qE™E (b)  HHUTT THH

(c) Tgpamm (d) ggoH™
o A R e




46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

PART - 1I
GENERAL STUDIES

Where is Buland Darwaza situated ?
(a) Agra (b) Fatehpur Sikri  (c) Bharatpur (d) Badaun

Shaikh Bahauddin Zakaria was associated with which of the following Sufi Order ?
(@) Suhrawardi (b) Chishti (c) Firdausi (d) None of these

Who said, Cripps Mission a ‘post-dated cheque’ ?
(a) Abul Kalam Azad (b) Jawaharlal Nehru
(c) Mahatma Gandhi (d) M.A. Jinnah

In which year for the first time the National Anthem was sung in the session of Indian
National Congress ?

(a) 1909 (b) 1911 () 1913 d 1915

Who was the first Garhwali King to visit the Mughal Court ?
(a) Ajaypal (b) Manshah (c) Shyam Shah (d) Prithvi Pal Shah

Who is known as ‘Jhansi ki Rani’ in Uttarakhand ?
(a) Teelu Rauteli (b) Fabia Devi (c) Empress Guleria (d) None of these

Who among the following gave the idea of a Constituent Assembly for India in the year
1934 ?

(a) M.N. Roy (b) B.R. Ambedkar (c) Jawaharlal Nehru(d) H.C. Mukherjee

Which part of the Indian Constitution contains the Fundamental Rights of the citizens ?
(a) Part III of the Constitution

(b) Part IV of the Constitution

(c) The Seventh Schedule of the Constitution

(d) None of the above

Which Article of the Indian Constitution abolished the practice of untouchability ?
(a) Article 16 (b) Article 17 (c) Article 18 (d) Article 20

Which of the following Constitution (Amendment) Acts added Fundamental Duties to the
Constitution of India ?

(a) Constitution (Forty first Amendment) Act, 1976

(b) Constitution (Forty second Amendment) Act, 1976

(c) Constitution (Forty fourth Amendment) Act, 1978

(d) Constitution (Forty fifth Amendment) Act, 1980
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T AR
46. SeTwG CLATST HEl fRAA 7 ?
(a) I (b) HAERHHRT () WAH (d) e
47. @ TEIE b T ° 7 fopm gt faetfaen & awfa o ¢
(a) Geuact (b) Focht
(c) Tregeh (d) T I B TE
48. Torg v o1 <31l i <61 = fopee T o 7
(a) 3T el TG (b) AR TE®
(c) HETeHT TITeft (d) w5
49. Y TH I Geyem e o YT TH S0 o STfREyH o = = ?
(a) 1909 (b) 1911
(c) 1913 (d 1915
50. TSl GUER H ST STeTl I T@aTef! 14T shid o7 ?
(a) ITIITA (b) T
(c) TIMIME (d) Ye=fuTet vmE
51. ITRGUS H i ‘Y 1 TH o &9 H THI A 8 7
(a) e Acett (b) IfeT <elt
(c) R Terfen (d) T H I AR
52. Trfafaa @ @ forem o 1934 T 9ia o foru weh Hforerms @ <1 fomm feam o 2
(a) THE. & (b) .3TR. TR
(c) ETELEle T&& d) T gEst
53, WA Giae o fopd YT 4 A0TiCen o Hifores ARSI S ?
(a) wfgam s R amd (b) wfga™ & =Y qEr
(c) wferem <t arad St A (d) 30w H F fopeft 7 &
54, R Gia9T & fhH T8¢ GRI STEIREAT <hl W1 I THTH fehdl 7T 7
(a) L= 16 (b) 3=E 17
(c) 3F=e 18 (d) 3= 20
55. Tafafga @ o forg gfoum (Femem) srfufem g yrde gfaam 3 difes sdet =1 e
T ?
(a) Gfau™ (41971 gened) stfafEm, 1976 (b)  Gfaum (4297 geny) Aff=m, 1976
(c) Tfaam (449t Tenem) srfafrm, 1978 (d)  @faum (4591 genya) Ty, 1980
s A R T
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56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

Which one of the following is not an Union Territory ?
(a) Chandigarh (b) Puducherry (c) Tripura (d) None of these

What is the maximum age limit for election to the office of the President ?
(a) 65 (b) 70 (c) 75 (d) No limit

Who decides whether a bill is a money bill or not ?
(a) The Speaker of Lok Sabha (b) The Prime Minister
(c) The President (d) Select Parliamentary Committee

Who one of the following is the executive head of a state ?
(a) The Chief Minister (b) The Governor
(c) The President (d) None of these

Gross Value Added growth (percent) in India’s agriculture and allied activities in the last
quarter of 2018-19 was :
(a) 5.1 (b) 4.9 (c) 28 (d -0.1

National Livestock Mission in India started in the year :
(a) 2010-11 (b) 2011-12 (c) 2013-14 (d) 2014-15

Which of the following constitute India’s major import item ?
(a) Jute and Textile (b) Tea
(c) Gems and Jewellery (d) Crude oil

Which of the following tax gives maximum revenue to the government of India ?
(a) Municipal tax (b) Excise duty (¢) Income tax (d) Customs duty

As per Census 2011 the percentage of urban population in India was :
(a) 31.16 (b) 41.8 (c) 258 (d) 21.8

Which of the following state in India does maximum coal production ?
(a) Jharkhand (b) Uttarakhand (c) Uttar Pradesh (d) Madhya Pradesh

NABARD was set-up in the year
(a) 1980 (b) 1981 (c) 1982 (d) 1983

Which committee recommended to introduce ‘Kisan Credit Card’ scheme ?
(a) Bimal Jalan Committee (b) R.Rangrajan Committee
(c) R.V.Gupta Committee (d) Subramanyam Committee




56. fr=faRaa § & o ueh Hg wftd S TE R 7

(a) +iEhTg (b) gl (c) Fgu (d) T A HIE T
57. Tgufd 9g W frafed gq ifesran sy @ @ ¢

(a) 65 (b) 70 (c) 75 (d) IS i TEl
58. I3 fagees o fagaes 8 91 121, 39 v s e @ ?

(a) ATeh TWT T AT (b) TEHEE

(c) Tgufd (d) IR HEc afyfd
59. 1 T @ B T UST T HREUTAH TG 2 ?

(@ F@EWT (b)) T (c) Trgdfa (d) T HHIETE
60. WA T 2018-19 ht 1f<m fd § Sy vd 358 I &A1 H Tohel YA -9 gfg (ferera ) o

(a) 5.1 (b) 4.9 (c) 28 d -0.1
61. WA § fopm ad & T IS1eA firer sRey g3 o ¢

(a) 2010-11 (b) 2011-12 (c) 2013-14 (d) 2014-15
62. T4 T | S A1 YA ST Y@ AT A 7 ?

(a) SEIMFUS (b) T () TETIIMEN (d) H=ATdA
63. WA TR ! Freferfad # & forg o & gatfes Torea 1l w2t @ 2

(a) TRUMARI T (b) IcUTG Yoh (c) 3T (d) Hi9 3o
64. SFTUMT 2011 % STTHR WRA <h! g THEAT T Tcrd o :

(a) 31.16 (b) 418 (c) 258 d) 218
65. Trferfaa o & v o fop T | HaiTeres gl ST i1 & 7

(a) TR@US (b) STETE (c) TS (d) T T
66. raTe’ fopa o | werfua fopam T o ?

(a) 1980 (b) 1981 (c) 1982 (d) 1983
67. T afufa 3 Toram shige S1E’ IaT 61 & A <t Fawricar i oft 2

(a) former Srer wfufa (b) AR, TS @ttt

(c) R, a7 FfHfd (d) gerw=m Hikfd
s A R e




68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

What has been the major cause of the population explosion ?
(a) High fertility (b) Improved medicare facility
(c) Low fertility (d) High mortality

Which one of the following is a result of rapid industrialisation and urbanization ?

(a) Urban decay (b) Rural depopulation

(c) Rural regeneration (d)  Urban depopulation

‘Appiko movement’ was originated in :

(a) Uttarakhand (b) Karnataka (c) West Bengal (d) Himachal Pradesh
When the Air Pollution Control Act was enacted ?

(a) 1986 (b) 1972 (c) 1974 (d) 1981

What is the pH value of acid rain ?
(@) Lessthan 5.6 (b) Morethan5.6 (c) Equalto7.0 (d) More than 7.0

Lowest layer of the atmosphere is :
(a) Tropopause (b) Troposphere (c) Stratosphere (d) Mesosphere

Koodankulum is famous for :
(a) Nuclear power plant (b) Thermal power plant
(c) Biosphere reserve (d) Major port in Tamil Nadu

An important cash crop of Punjab is :
(a) Cotton (b)  Sugarcane (c) Manila hemp (d) Tobacco

What is the another name of the Tundra type of climate ?
(a) Humid microthermal (b) Dry mesothermal
(c) Humid mesothermal (d) Polar climate

Which of the following has been recognised as the store house of the best metallurgical
coal in the country ?

(a) Bokaro coal-field (b) Jharia coal-field
(c) Giridih coal-field (d) Ramgarh coal-field

Garo hills and Mikir hills are the part of which of the following plateau ?
(a) The Deccan Plateau (b) The Telangana Plateau
The Meghalaya Pl (d) The Ranchi Plateau




68. SHEE foThIc T T&T HRUT FTR 7

(a) 3 ISl (b) 3ea fafercan glaen

(c) T st (d) = e
69. To=Tfeha O & ShiF Ueh et 3MeIiieor 3T TTHeRToT <1 RumT 8 7

(a) wEde™ (b)  TTHIT STEET B

(c) TITHior 3ee (d) &0 SHEE B
70. ‘AT STTGICH T IgHE BT T

(a) IH@UEH (b) HARHH (c) ufvemsmad (d) Temd yemH
71. Ay Syl frr=or stfurfam ot srfurlaem e g an 7

(a) 19867 (b) 19727 (c) 19744 (d) 19817
72. AT AN B pHUF TR ?

(a 5.68%°F (b)) 5.68 AfUF (c) 7.0 S (d) 7.0% 3feres
73. argHUSH shi el wa B

(a) e (b) &vHTEA (c) THATIHUSH (d) weHISA
74, HISHDH UGG &

(a) URHTY] S g o fTQ (b) S Ik g & foTw

(c) Sfaquse 3Rfard & & fotu (d) eI % I Iad o €9 §
75.  TSITS i Teh HE@Ul 1G] HEA &

(a) HUH (b) =T (c) YT TSI (d) TR
76. 31 Tohe <l 1Ay 1 Teh SR AW 1 8 7

(a) THYEHSHE (b) YHIAFSHE (c) THAFSHE  (d) YAIAAGY
77. 99§ ¥ S g GTqeRHTa SIEE HER T8 % €9 H ¢ H SIS 2 7

(a) SIHR BT & (b) ST T &=

(c) Tifcis s &= (d) TG e &
78. T vgTiedt ud ffet watteai e 4 o frm wer & e & 7

(a) T&HTUSK (b) AT 3K (c) U U3R (d) TR
o A T T




79. Who among the following argued that ‘exponential human population growth’ is the
ultimate cause of many social and environmental problems ?
(a) Thomas Malthus (b) Karl Marx
(c) William Godwin (d) Marquis de Condorect

80. On which river, Bhakhra Dam is constructed ?
(a) Ganga (b) Kali (c) Sutlej (d) Chenab

81. Which countries are joined by the Palk Strait ?
(a) India and Sri Lanka (b) North and South Korea
(c) Pakistan and Iran (d) India and Pakistan

82. 180° longitude is called :
(a) Prime meridian (b) Standard parallels
(c) International date line (d) Greenwich mean time

83. Which place receives the maximum solar energy in the month of December ?
(a) Kolkata (b) Delhi (c) Amritsar (d) Chennai

84. In which region the first water grid of the country will come up in the next five years ?
(a) Chittoor in Andhra Pradesh (b) Kalahandi in Odisha
(c) Marathwada in Maharashtra (d) Jaisalmer in Rajasthan

85. Who appoints the Attorney General of India ?
(a) Supreme Court of India (b) President of India
(c) Cabinet Secretariat (d) Ministry of Law

86. In which year was the data collected for the first time for NPR (National Population
Register) ?
(a) 2005 (b) 2007 (c) 2008 (d) 2010

87. Which state-owned companies got the status of ‘Maharatna’ in Oct. 2019 ?
(a) Bharat Petroleum and IFCO
(b) VSNL and IRCTC
(c) Hindustan Petroleum and Power Grid Corporation of India
(d) None of the above

88. Which of the following committees is related to defence reforms in India ?
(a) Naresh Chandra Committee (b) Kelkar Committee
(¢) Joshi Committee (d) Tendulkar Committee
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79. = 4 @ fpe T fed, f6 ‘o 7Ma SHEen 9ig’ 1 9o 3Tehl | adn
JTeRiig gHed 8 7
(a) dHEURYE (b) ot °TEY (c) Tafermaiefem (d) wrferm S sl
80. wiEer iy fprad mfafifag ?
(a) TN (b) et (c) wHaqgs (d) To=mE
81. UTh TISHEHE gHI I U ST S B & ?
(a) WTRA 3T sfieieht (b) I IR feaoft sifer
(c) UTfeRE™ I T (d) WRA 3R aRFEH
82. 180° =R
(a) TUTH SR &1 (b) P &
(c) =g fafer (d) IR daeEn
83. feursm oTg ® i U1 TN T 31fereh S ITH HdT 8 7
(a) iep@r  (b) feeeh (c) IR (d) ==
84. 3T Ul HTA H <1 b1 TagYH a1eX e ford €31 1 s 7
(a) Y T & Fer # (b) TSI o HrTERE
(c) WERIY o AUSTST H (d) TSN & SHTH |
85. YT T AT i Fxh HLaT§ 7
(a) WA 1 = AT (b) WA o Tgufd
(c) Hbmes Ffaare™ (d) Tafy meme™
86. Torg o o ygell IR WAt TR (T ST UfTehT) o folu 31fehs JeR T & 2
(a) 2005 (b) 2007 (c) 2008 (d) 2010
87. IR, 2019 ¥ foh TR -TATA (=1 Sl TER TR JEH fohal T & 7
(a) WA USIfera™ 3T Seh!
(b) o TE T U 3R 3TE IR H A
(c) Tegwm dgifcrm 3 arar firg HiReM 317 siugan
(d) IWIH U Y IS T
88. fire o @ W o wfufa v o wen gudi @ gwfa @ 7
(a) TWEgalfd (b) Hoamia  (c) S aif (d) dgoTeRt wHfd
s A e e




89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

Article 371-A of the Indian Constitution has special provisions for which state ?
(a) Manipur (b) Sikkim (c) Mizoram (d) Nagaland

Which state has launched the country’s first Emissions Trading Scheme (ETS) ?
(a) Punjab (b) Gujarat (c) Maharashtra (d) Himachal Pradesh

Which of the following is not a Kharif crop ?
(a) Mustard (b) Jowar (c) Paddy (d) Soyabean

Which country has been placed on the top among 156 nations in the “World Happiness
Report” for 2019 ?

(a) Norway (b) Finland (c) Denmark (d) Iceland

How many countries were part of the European Union at the end of 2019 ?
(a) 20 (b) 21 (c) 28 (d) 30

Where is the largest paper mill in Uttarakhand ?
(a) Lalkua (b) Khatima (c) Haridwar (d) Kashipur

Which mountain range is to be crossed in order to go from Ganga Valley to Yamuna
Valley ?

(a) Radika Danda (b) Panwali Kantha
(c) Khait Parwat (d) Diwa Danda

Bageshwar town is situated at the confluence of which river ?
(a) Saryu— Gomati (b) Saryu - Ramganga
(c) Saryu— Panar (d) Saryu - Kali

The district with lowest literacy rate in Uttarakhand State as per Census 2011 was
(a) Udhamsingh Nagar (b) Haridwar
(c) Uttarkashi (d) Tehri Garhwal

In Uttarakhand ‘BHAKAR’ word is used for
(a) Storage of fruit juice (b) Storage of cereals
(c) Storage of milk (d) None of these

Harshwanti Bisht is famous for which sport ?
(a) Mountaineering (b) Hockey
(c) Weight Lifting (d) Shooting




89. W WU o1 31=8¢ 371 -T faemTirehr ygH o &

(a) T T (b) TafEme (c) T (d) TS
90. forE T 1 ¢ Sl TRl IS AR ASHT (3 TH) ST hi 8 ?

(a) U (b) TSHIE (c) WENTg (d) femreet gew
91. f=irs § @ o & wl® HEd T 8 ?

(a) =l (b) X (c) o™ (d) GrE=
92. “Teg BT FUIE” 2019 T 156 ST 1 FH | HH |1 < = W ?

(a) Hd (b) THTcis (c) STHmh d) TS
93. 2019 % 311 Teh feoha ¢ PWHA FIH & ?

(@) 20 (b) 21 (c) 28 d 30
94, 3TEUE H SIS hl HaY FST HIEHT hal (Id 8 7

(a) WEFA (b)) @I (c) BNER (d) T
95. I T @ T § S o fore ferg wela Soft SRl AR KT AT B 7

(a) TSIHISIEI (b) TETEH T

(c) Wudd (d) dmErsie
96. MR TR ferg Afei s A fRE g 7

(a) &T— T (b) T — T

() E-TR (d) &g —hredl
97. 2011 I STHTUMT o STFHR STGUE s H =IqH FIERAT ST S9G &1

(a) 3AfEETR (b) BER (c) STt (d) el Mg
98. ITEUS H ‘HehT’ Ted & U T AT B |

(a) ell o T o YIS (b) TR o VUSRI

(c) U WIERT (d) 3TH I HE T
99, g¥adt faw form wmefts wa & v afag 8 7

(a) TIARET (b) TRl

(c) WHIeH (d) Fremesh
S A TR e
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101.

102.

103.

104.

10S.

106.

107.

108.

In Uttarakhand L.I.M. is located at
(a) Kashipur (b) Khatima
(c) Pauri (d) Rishikesh

Which of the following measurement unit ‘Nali’ is used in the rural areas of Uttarakhand ?
(a) Width of river (b) Length of the road
(c) Land (d) Tree

Which of the following towns of Uttarakhand is known as “Copper City” ?
(a) Pauri (b) Chamoli
(c) Almora (d) Srinagar

State flower of Uttarakhand is
(a) Brahma Kamal (b) Phen Kamal
(c) Fyunli (d) Marigold

Which of the following river flows through ‘Valley of flowers’ ?
(a) Alaknanda (b) Bhagirathi
(c) Ramganga (d) Pushpawati

How many members from Uttarakhand represent in Rajya Sabha ?
(a) 02 (b) 03
(c) 05 (d) 07

In which of the following districts ‘Corbett National Park’ is situated ?
(a) Nainital and Udhamsingh Nagar (b) Nainital and Pauri Garhwal
(c) Pithoragarh and Champawat (d) Chamoli and Rudraprayag

Which of the following places of Uttarakhand famous for highest tourist destinations ?
(a) Mussoorie (b) Nainital
(c) Haridwar (d) Rishikesh

In which district of Uttarakhand ‘Patal Bhuwneshwar’ is located ?
(a) Almora (b) Pithoragash
(c) Pauri (d) Uttarkashi
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101.
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105.

106.

107.
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TGV § 3778, 3778, . e 2

(a) hHRAH (b) WIMH

(c) WS (d) ey d
IAEUE o UTHIT T ATefl” 3reg o1 S frAforiaa & & ferereh |19 o foTe S gIaT @ 7
(a) &I AeE (b) TSH h! A=
() d) U

IAEUE o TTfcalgd § 8 HH-1 TR “qm” o &9 H ST AT 8 7
(a) U (b) =

(c) 3TcHIel (d) #fR
IAEUE 1 T T 7 -

(a) T HAA (b) A HAA

() wIeh (d) e

freiferd ® & - T Rl i =T | B &l 7 ?

(a) AARA<T (b) yriReA

(c) TmTm (d) gsTadt

ITAEUE T Y TSIEHT H Tohe ges ufdfferes sid & ?

(a) 02 (b) 03

() 05 (d 07

fretifena 9 9 fora SHUCT | “shreie 3@ Tes TR 2 2

(a) tarer Ta 39w fig TR (b) Ftaret Ta N TR

(c) TuRrTg Ua TwTad (d) THIeA TF FETATT
faferfga § & Sotrave 1 S -3 T i T e i g A ufag § 7
(a) =l (b) et

(c) BRER (d) RS

IAEUE o fohd TG § “UTaTet Ya-val’ e g 7

(a) 3TcHIET (b) TueirTE

(c) dE (d) IaER

PAH




109. The name of the acid which is used to clean the toilet is
(a) Aceticacid (b) Sulphuricacid (c¢) Nitric acid (d) Hydrochloric acid

110. Chemically diamond is
(a) Pure Zinc (b)  Pure Carbon (c) Pure Sand (d) Pure Magnesium

111. Table Sugar is
(a) Glucose (b)  Sucrose (c) Maltose (d) Lactose

112. Which of the following Vitamin is related to vision ?
(a) Vitamin A  (b) Vitamin C (c) Vitamin D (d) Vitamin E

113. B.C.G. vaccine is used against

(a) Leprosy (b) Hepoatitis (c) Food poisoning (d) Tuberculosis

114. Which type of Hepatitis spreads through polluted water ?
(a) Hepatitis A (b) Hepatitis B (c) Hepatitis C (d) Hepatitis A & B

115. An instrument used to measure humidity is

(a) Hygrometer (b) Barometer (c) Thermometer (d) None of these

116. Which is used in making microchips ?
(a) Silicon (b) TIron (c) Copper (d) Zinc

117. Lothal is a Harappan site famous for its
(a) Dockyard (b) Terracotta (c) Weapons (d) None of these

118. How many Vedangas are there ?
(a) Three (b) Five (c) Six (d Two

119. Which are the earliest Buddhist texts ?
(@) Vamsatexts (b) Avadanatexts (c) Tripitakas (d) Milind Panho

120. ‘Chachnama’ was written in which language ?
(a) Arabic (b) Persian (c) Turkish (d) Pashto




109. A ! T i o ToIT ST 3T TINT TohaT 1T 8, IHRTAM & ¢
(a) THICH A (b) TR A (c) TSI 3 (d) TTSSIRANNEh 3T

110. TEETH IR ET IS

(a) g S (b) 3G HIH ) s (d) g F=fEm
111, =/3ehu 2
(a) RIS (b) Gl (c) W (d) RS

112. g a s fafm g o a=fRa g
(a ToafmA ) fwfimc (c) TaafmD (d) ToafmE

113. AN IFH AT EA R
(a) FEIH (b) Euerfad (c) WA fowrrdaT ® (d) dufess o

114. & @t feuersfea T o @ $adi 2 2

(a) Eersied A (b) Eluersied B

(c) @uerien C (d) ¥EeEfea A 3B
115. 3TTSd1 |19 STl 331 b1 had &

(a) ®EERUERX  (b) grem (c) raHTdt (d) TH B AR
116. T 4 & for8 TreshitaeE s 8 S0 fRan St g 2

(a) faferepia (b) A (c) PR d) =
117. YA Teh geW] T & Il frg sror afiig @ ?

(a) WUTE (b)  Fomfdar

(c) 3R (d) FHHBE T
118. dgi fhaa & 7

@ = (b) d= © @ d
119, IRHA NEIA ST TR ?

(a) INTY (b) IAAECH T (c) Tftes (d) Tufa= o=t

120. =T fong et o foram mam o ¢
(a) (b) HIE (c) Th (d)
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121.

122.

123.

124.

125.

126.

127.

PART - 111
GENERAL INTELLIGENCE TEST

The perimeter of a rectangular field is 82 metres and its area is 400 square metres. The
breadth of the rectangle is
(a) 25 metre (b) 16 metre (c) 20 metre (d) 15 metre

If m and n are positive integers such that m" = 1331, then (m — 1)*~ 1 =2

(a) 10 (b) 100 (c) 121 (d) 11

‘Bread’ is related to ‘wheat’ in the same way as ‘Brick’ is related to

(a) Cement (b) Building (c) Fire (d) Clay

Even after a discount of q% on marked price, a trader gains by p%. What is the mark up

percentage over the cost price ?

@ 29 000 ) 279100 ) L0 (4

q-p 100 —-p 100 —q None of these

P
If|P — 10| =12 and |4K - 10| = 6, then what is the maximum value ofﬁ ?
(a) 11 (b)y 22 (c) =2 (d) None of these

The arithmetic mean between two numbers is A and their geometric mean is G. Then the
numbers are

1
() JAZ_GP+A (b) *H/AZ-GPFA
(c) A£~AZ-G? (d) None of these

A survey was conducted on a sample of 1000 persons with reference to their knowledge of
English, French and German languages. The result of the survey are presented in the

following Venn diagram :

The ratio of the number of persons who do not know any of the three languages to those
who know all the three languages would be

1 1 7 175
@ 37 ®) 35 © 350 @ Tooo

German French

English




121.

122.

123.

124.

125.

126.

127.

T - 1T

M= gfg udiequr
Teh HATIAATSh &7 o1 YA 82 Hiel 9T &heT 400 o1 Hiet 2 | ST &7 6l =TS 2
(a) 251X (b) 16X (c) 20H (d) 151X
Ife m qAT n GATCHS qUTTeh 38 YR & fob m" = 1331, 8 (m — 1)n 1 =2
(@) 10 (b) 100 (c) 121 (d) 11
(a) HHew (b) WA H (c) IfM\w (d) ot fida

3fehd Ted W q% B ¢ W i hIE S p% o ol 2 | AT o W 3Afehd fcwrd
BT 2

() };—J_FEXIOO (b) Tgo;_qumo
© T’éﬁaxloo d) T IARETE

afg [P —10| =12 3 |4K - 10 =6,ﬁ§wﬁwmw@m?

() 11 (b) 22 () -2 (d) THEHIE AR
T AT % ST AT HIET A TUT 39T TONR HIE G 7 | 7 ST gift

(a) \JA2-G?tA (b) i; A2-G2+A

(c) A+~JA2-G2 (d) T HIE T

1000 SAfeTaT < Ffaesl H ITeh ST, Tord SR THA WIS H M o SR H Feieor fomam T |
TaeguT o iy e o e A fe i

37 Ffeaal hl G S 39 1 Wit § 9 foreft ot ot & S o 39 =it b g %

F1 TG S §4 =1 WIS Bl T &, B
1 1 7 175
@ 37 ®) 35 © 350 @ Too0
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128. If the meaning of ‘+’ is ‘—’, meaning of ‘-’ is
is ‘+’°, then

125-5x10+ 13 +28

is

(a) 127 (b) 129 () 124 d 130

+’, meaning of ‘+’ is ‘x’ and meaning of ‘x’

129. If code of DELHI is HIPLM, then QEHVEW is the code of
(a) MUMBAI (b) NAGPUR (c) JAIPUR (d) MADRAS

130. The simplest form of

x2-1 _ -1
x+1 " x2+x+1

is
(a) 1 (b) x-1 (c) x+1 (d x*+x+1

131. In the following figures :

4 10 5 5 13 6 6/, \7
3 4 5
The number at the question mark will be
(a) 18 (b) 21 (c) 27 (d) 28

132. Find the missing number in the following table whose mean is 31.87 :
x: 12 20 27 33 7?2 54
f: 8 16 48 90 30 8
(a) 24 (b) 30 (c) 42 (d) 16

133. The diagram below shows the number of valid votes obtained by four students who
contested for the secretary of an union. The total number of valid votes polled was 1440.
By how many votes the winner defeated the nearest candidate ?
C A
gp° | 60°

100° 120°
M R

(a) 120 (b) 220 (c) 40 (d) 80




128

129.

130.

131.

132.

133.

e+ HT AT =, B AY ) 2 B/ I IR O B/ G B, A
125-5%x 10+ 13 +28

il
(a) 127 (b) 129
(c) 124 (d 130

Ife DELHI %1 %< HIPLM &1, @ QEHVEW %1 %2 &

(a) MUMBAI (b) NAGPUR
(c) JAIPUR (d) MADRAS

x2-1 ' -1
x+1  ¥2+x+1

HTEITH 9 8

(a) 1 (b) x-1 (c) x+1 (d x*+x+1
o= smepfertt 1,
3 4 5
JyaTEh g o T W g1 gnfl
(a) 18 (b) 21 (c) 27 (d) 28

Fr & 1 gl @ e 37 e hifsie e qew 31.87 2

x: 12 20 27 33 ? 54

f: 8 16 48 90 30 8

(a) 24 (b) 30 (c) 42 d 16

foreht Tar < wfua ug o gHTE H IR S gRT WS 99 91l ot T o e o 8 wefita feme
TR | STol T 39 Hal hl ol F&AT 1440 ot | S ST 3794 Toriehl Ifiean i fehaw aei
RRACIER

'S A
go° | 60°
100° 120°
M R
(a) 120 (b) 220 (c) 40 d) 80
i a o
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135.

136.

137.

138.

139.

Read the statements and choose the ‘cause statement’ and ‘effect statements’ :

Statement — A : The Government has increased the prices of petrol and diesel by 10%
with immediate effect.

Statement — B : The oil producing countries have decided to decrease the oil production
level significantly.

(a) Statement ‘A’ is cause and ‘B’ is effect.
(b) Statement ‘B’ is a cause and ‘A’ is effect.
(c) Both ‘A’ and ‘B’ are independent causes.
(d) Both ‘A’ and ‘B’ are effects.

There are 7 members in a family, 4 males and 3 females. They are L, M, N, O, P, Q and R.
M is a businessman and father of P. Q is a doctor and grandfather of P. N is a housewife, is
daughter-in-law of O. R is an advocate and uncle of P. There is an architect, a pilot and a
journalist. N is not the mother of L. O is not married to M. Which of the following is a
group of male members ?

(a) ORPM (b) QMRP
(c) LQMR (d) Either (b) or (c)

A library has an average of 520 visitors on Sunday and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Sunday is ?

(a) 250 (b) 276 (c) 280 (d) 285

Choose the similar group of numbers from the options given to (31, 19, 41).
(a) (23,35,51) (b) (16,27,11)
(c) (29,17,37) (d) (27,29,47)

Five boys took part in a race. Ram finished before Shyam but behind Arun. Suresh
finished before Kabir but behind Shyam. Who won the race ?

(a) Ram (b) Shyam
(c) Arun (d) Suresh

The following numbers fall in a group. Which one does not belong to the group ?
53,63, 83,73
(a) 53 (b) 63 (c) 83 (d 73




134.

135.

136.

137.

138.

139.

frfaTRad oM § 9 R0 HYA TF UNTE HUF Sl U T4 e T faehedi 9 &l ST -
Y — A : TIHR 7 YT Ud SisTel o ST H deehled THT & 10% hl S@ad L el 8 |
HYT— B : I 3T <3 Aeohled THTE F A bl IcdTe hH hid o1 i feram 2 |

(a) YA ‘A’ BT 2 Tafh HYH ‘B’ INE 2 |

(b) HUT ‘B’ HRU g Tqfeh HAT ‘A’ IAE 7 |

(c) YT ‘A’ Td %Y ‘B’ Th G § WA HeAT 2 |

(d) U ‘A’ TIHYF ‘B’ THI IWEH £ |

T IR H 7 96 8, T 4 999 T 3 A & | L, M, N, O, P, Q 3R R | M U =M 8
Ta PHIfUA 8 | QU Ffehcdeh & T P HI1 QMET & | N Toh TE&aTioH & T8 O hl g7@g 2 | R
Teh et & T P 1 =TT & | Ueh 3MTfeheere, Tsh YTSe1e Ud Ush T9hR & | NHT T81 8, L
1 | O 1 fo@T8 M o a9 721 37T 2 | 370 & i |1 THg hadl Tesi 1 3 ?

(a) ORPM (b) QMRP

(c) LQMR (d) AT (b) AT (c)

Teh Qs o TR o1 3ed 520 3 3= Tl § 240 g9feh Bra 2 | Toram 1 I B At
30 fei & 7 & wfafer smigent i sied T F=1 8 2
(a) 250 (b) 276
(c) 280 d) 285

@ ™ foereul ® @ €t TS TEaT o wWE wE 9 (31, 19, 41)
(a) (23,35,51) (b) (16,27, 11)
(c) (29,17,37) d) (27,29, 47)

TRt <Ig | 5 TSI W Tofm | TH < 3101 SIS T § U8l T 3180 o &G G4 1 | gL A
3t g eI T Tget oifeh v o a1g I <hl | <rg fohem Sfieft 2

(a) TH (by @™
(c) 3w d) g™

Frferfiad st ue wg | 1Tl € | 998 § M 58 A8 3 8 2

53, 63, 83, 73
(a) 353 (b) 63
(c) 83 (d 73
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143.

Four persons A, B, C and D are stationed at the four corners of a square of a plot as shown

in the figure :
€ A
E
N S
W
B D

‘A’ starts crossing the plot diagonally. After walking half the distance, he turns right,

walks some distance and turns left. Which direction ‘A’ is facing now ?
(a) North (b) North-East

(c) North-West (d) South-East

How many triangles are there in the given diagram ?

(a) 38 (b) 17
(c) 14 (d) 19

If STAR : RATS, then WARD : ?
(a) DRAW (b) FAME

(c) SHINE (d) HICE

A clock is set right at 5 : 00 am. The clock loses 16 minutes in 24 hours. What will be the

true time when the clock strikes 10:00 pm on the 4" day ?

(@) 11:00 p.m. (b) 10.00 p.m.

(¢) 9:00 p.m. (d) 8:00 p.m

26




140. IR A= A, B, C 3R D ! foret T aiiehR @1e & IR i1 9 femmn man g

C A
E

N S
W

B D

‘A’ TATE o Torshul | BRI AT I[E Ll @ | e G =e o 916 98 &13 31K S $9 gl
T AT 8 TR A IR GS AT 7 | 316 ‘A’ 1 g forg feam # 2 2

(@) S (b) IW-TE
(c) ST-dfzem (d) cfm-ud

141. ™ 3@ A fopea B 8 2

(a) 8 (b) 17
(c) 14 (d 19

142. If¢ STAR : RATS, @1 WARD : ?

(a) DRAW (b) FAME
(c) SHINE (d) HICE

143. Topet =1t <1 W&l 99T 1 THAM 5 : 00 am T TR ST 2 | 91 24 52 H 16 e 01 @ STt
2 1 =19 T 9 u<t g 10:00 pm 5 fE@m=n ST 8, 39 99 anxdfesh &l T =1 g 2
(a) 11:00 p.m. (b)  10.00 p.m.

(c)  9:00 p.m. (d) 8:00 p.m.

PAT ) T oy



144.

145.

146.

147.

148.

149.

150.

The next term of the series :

BMO, EOQ, HQS

is

(a) KSU (b) LMN
(c) SOV (d) SOW

If February 01, 2004 is Wednesday, what day is March 03, 2004 ?
(a) Sunday (b) Monday (c) Friday (d) Saturday

If L stands for ‘+’, M stands for ‘—’, N stands for ‘x’, P stands for ‘+’, then
14N10L42P2M8 is equal to
(a) 251 (b)y 153 (c) 248 (d) 216

In a group of cows and hens, the number of legs are 14 more than twice the number of
heads. The number of cows is

(@) 12 (b) 10 () 7 @d 5

If perimeter of the circle in the figure is 167, then the perimeter of square ABCD is

=
-

T

(a) 32 (b) 64 ) 36 d) 46

Two words are given : NOT and TONE. These words represent some numbers. Adding
these numbers we get number 9000 as

NOT
+ TONE
9000
Which number will be represented by word NET ?
(a) 264 (b) 673 (c) 246 (d) 628

4
Ifa=A[3 + 1, then the value of a + s

(@) 8 (b) 6 (c) 4 (d 2
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goft

BMO, EOQ, HQS .........

T 3TTAT IS B

(a) KSU (b) LMN (c) SOV (d) SOW

Ff¢ 01 ®EH, 2004 T FHAR 2 A1 03 AT, 2004 1 HH a1 feT 2 2
(a) TeEw (b) HHAR (c) IERAR (d) wIfHER

IR LH AT ', MBI NHI 3T x°, PRI =’ 8, a8 14N10L42P2MS8
HIAE B
(a) 251 (b) 153 (c) 248 d 216

T 3R gRTET < e g §, T <Rl we, TRl 1 6 o g H @ 14 31fes B | T <Rl we
2
(a) 12 (b) 10 ) 7 @ 5

e 3TTepfd ¥ fe T 9 o1 9T 167 7, A1 a7 ABCD o1 9RE™ &
D C
A

B
(a) 32 (b) 64 ) 36 d) 46

gl 91sg fed T € : NOT 3R TONE | 3 veg $8 G & i 8 | 37 @t ol el W
FH GE&T 9000 I Hd & JE

NOT
+ TONE
9000
31e¢ NET g0 s Ht g f&fua grft 2
(a) 264 (b) 673 (c) 246 (d) 628

aﬁa=\/§+l,?ﬁa2+$7ﬂﬂﬂ%
(@ 8 (b) 6 (c) 4 (d 2
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